
Q1
120 male pupils were weighed to the nearest kg.

	Mass (kg)
	Frequency
	Mass ( Frequency

	61
	22
	

	62
	44
	

	63
	35
	

	64
	19
	


Calculate
a)
the median weight

b) the modal weight

c) the mean weight, by first completing the table.

Q2
The Samaritans log all calls to their helpline.  The number of calls per day received by their helpline over a given year are shown below.  Find the median and the mode.

	No. of calls
	10
	11
	12
	13
	14
	15
	16 or over

	No. of days
	137
	104
	56
	31
	18
	13
	6


Q3
The total weight of 15 rugby players is 1350 kg. 

The total weight of 9 ballet dancers is 360 kg.

What is the mean weight of the group of 24 people when put together?

Exam style questions

Q4
The temperatures at midnight in January 1995 in Shiverton were measured and recorded.  The results were used to construct the frequency table:

	Temp in ( C
	0
	1
	2
	3
	4
	5
	6
	7
	8

	No. of nights
	4
	5
	5
	3
	3
	7
	3
	0
	1


a) Work out the range of the temperatures?


 
  (1 mark)

b) Work out the mean temperature? 

Give your answer correct to 1 decimal place.



  (3 marks)

Q5
Pupils in form 9X were given a test in mental arithmetic.  The maximum score in the test was 10.  The scores for all the pupils in 9X are shown in the table (on additional sheet).

a) Copy and complete the table to calculate the mean score for pupils in 9X.

(5 marks)

b) Pupils in form 9Y took the same mental arithmetic test.  The mean score for the 32 pupils in 9Y was 5.75.  Calculate the total score for 9Y.

(2 marks)

c) Giving a reason for your answer, state which form had a better performance in the mental arithmetic test.

(2 marks)

DO NOT write on this sheet – Copy onto your paper

DO NOT write on this sheet – Copy onto your paper

	Score
	Number of pupils
	Total score

	10
	2
	20

	9
	3
	27

	8
	2
	16

	7
	9
	63

	6
	6
	

	5
	3
	

	4
	1
	

	3
	1
	

	2
	0
	

	1
	2
	

	0
	1
	

	
	Total score for 9X
	

	
	Number of pupils in 9X
	

	
	Mean score for 9X
	


DO NOT write on this sheet – Copy onto your paper

	Score
	Number of pupils
	Total score

	10
	2
	20

	9
	3
	27

	8
	2
	16

	7
	9
	63

	6
	6
	

	5
	3
	

	4
	1
	

	3
	1
	

	2
	0
	

	1
	2
	

	0
	1
	

	
	Total score for 9X
	

	
	Number of pupils in 9X
	

	
	Mean score for 9X
	


	Score
	Number of pupils
	Total score

	10
	2
	20

	9
	3
	27

	8
	2
	16

	7
	9
	63

	6
	6
	

	5
	3
	

	4
	1
	

	3
	1
	

	2
	0
	

	1
	2
	

	0
	1
	

	
	Total score for 9X
	

	
	Number of pupils in 9X
	

	
	Mean score for 9X
	


DO NOT write on this sheet – Copy onto your paper

	Score
	Number of pupils
	Total score

	10
	2
	20

	9
	3
	27

	8
	2
	16

	7
	9
	63

	6
	6
	

	5
	3
	

	4
	1
	

	3
	1
	

	2
	0
	

	1
	2
	

	0
	1
	

	
	Total score for 9X
	

	
	Number of pupils in 9X
	

	
	Mean score for 9X
	



Q1
a)
median weight = 62 kg


b)
modal weight = 62 kg


c)
mean weight = 62.425 kg







(4 marks)

Q2
mode = 10 calls


Median = 11 calls









(2 marks)

Q3
mean = 1350 + 360 / 24 = 71.25 kg






(3 marks)

Exam style questions

Q4
a)
range = 7 – 0 = 7








(1 mark)


b)
total frequency = 31

mean = 97/31 = 3.1 (to 1 dp)






(3 marks)

Q5
a)

	Score
	Number of pupils
	Total score

	10
	2
	20

	9
	3
	27

	8
	2
	16

	7
	9
	63

	6
	6
	36

	5
	3
	15

	4
	1
	4

	3
	1
	3

	2
	0
	0

	1
	2
	2

	0
	1
	0

	
	Total score for 9X
	186

	
	Number of pupils in 9X
	30

	
	Mean score for 9X
	6.2















(5 marks)


b)
5.75 x 32 = 184








(2 marks)


c)
9X: total score = 184
mean = 6.2

30 pupils 



9Y: total score = 184
mean = 5.75
32 pupils



9X performed better as they had fewer pupils and got a better mean.
(2 marks)

Total / 22

